- | Fill in the Missing Digits Name:
(]
Fill in the missing digit(s).
9060 — 1764 = 7596
6 2
3 4
B
Fill in the missing digit(s).
7508 — 2843 =46 5
]
Fill in the missing digit(s).
8320 — 2197 =6130
3 2
1 0
[®)TeachMe CC.4.42 Page 10f 4

TeachMe, Inc. ©2025 All rights reserved.



- | Fill in the Missing Digits Name:

M

Fill in the missing digit(s).

6644 — 12 3=>5361

Show your work

@
Fill in the missing digit(s).
404 — 1324 = 8080
Show your work
@

Fill in the missing digit(s).

8718 — 24 2 =06266

Show your work
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- | Fill in the Missing Digits Name:
]
Fill in the missing digit(s).
6603 — 1620 =49 3
[+
Fill in the missing digit(s).
7 22 — 3194 = 3828
(]
Fill in the missing digit(s).
5823 — 2539 =3784
2 1
4 3
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- | Fill in the Missing Digits

Name:

#10

Fill in the missing digit(s).

7836 — 1431 = 6405

#11

Fill in the missing digit(s).

7508 — 2843 =46 5

#12

Fill in the missing digit(s).

(722 — 252 = 5201
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- | Fill in the Missing Digits Answer Key
Question Answer
#1 4
#2 6
#3 0
#4 8
#5 9
#6 5
#7 8
#8 0
#9 2
#10 7
#11 6
#12 1
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